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FEWNMNER 5.
(JavaScript, Node.js #5i)

const readline = require("readline");

const rl = readline.createlnterface(process.stdin, process.stdout);

class Node {
previous;
value;

next;

class LinkList {

head;

length;

constructor(length) {
/) LR FEREE, Wi head RTHEFHE 0 MNEA, length XAMAT 0
this.length = length;
this.head = new Node();
// this.head.value = 1;
let current, previous = this.head;
for (let i = 1; i <= this.length; i++) {

current = new Node();

current.value i;
previous.next = current;
current.previous = previous;
previous = current;
X
current.next = this.head.next;
this.head.next.previous = current;
// this.head.next = this.current; // T ZEWE, KEEHLSRHE
— undefined
this.head.previous = current;
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}
remove (node) {

node.previous.next =

node.next.previous =

node.next;

node.previous;

// delete node; // JavaScript E 1% 7% B &M %

this.length--;

return true;

/S RENBRE R T E n A8 R (T B0,

// FFEFEEREE A%

get_n_after_node(node, n) {

let property_name = "next";

if (n < 0) {
property_name = "previous";
n = -n;

}

if (this.length < 3) return false;
for (let i = 0; i <mnj i++) { // FE&E n A, Pl 0 s, 2 3 4%

- X

node = node[property_name] ;

¥

return node;

function main(people_num, numil) {

let link_list = new LinkList(people_num);

let current = link list.head;

let temp;
while (true) {

LHERES 0 4

temp = link_list.get_n_after_node(current, numl);

if (!temp) break;

current = temp;

link_list.remove(current);

}

// WEE current R&E—MHEMBERNLE S, THW next 1 previous #HZFAMN

&5

— g S\

current = current.next;

link list.head.next = current;
for (let i = 0; i < link_list.length; i++) {

console.log(current.value);
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current = current.next;

function input(prompt) {
return new Promise((resolve) => {
rl.question(prompt, (answer) => {
resolve(answer) ;
B
B

async function main_() {
people_num = parselnt(await input(" % A\ AZ("));
numl = parselnt(await input(" # N\ % — ] F"));
main(people_num, numl);

rl.close();

main_()

/7 BN ANE 41

/) BMNE AT 3
// 16

// 31
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AL E 75 .

(JavaScript, Node.js #85%)

const readline = require("readline");

const rl = readline.createlnterface(process.stdin, process.stdout);

class Node {
previous;
value;

next;

class LinkList {
head;
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length;
constructor (length) {

/) RRFERE R, W head RTNEFHE 0 MR, length MAT 0

this.length = length;

this.head = new Node();

// this.head.value = 1;

let current, previous = this.head;

for (let i = 1; i <= this.length; i++) {
current = new Node();
current.value = i;
previous.next = current;

current.previous = previous;

previous = current;

}
current.next = this.head.next;

this.head.next.previous = current;

// this.head.next = this.current; // TG £ ERME, WREEHLEE

— undefined
this.head.previous = current;
X

remove (node) {

node.previous.next = node.next;

node.next.previous

// delete node; //

= node.previous;

JavaScript BN %k E EM %

this.length--;

return true;

/KBNS S R T8 FE n AR TUARED, SRR EF 0 1
// FFEFEEEE %R

get_n_after_node(node, n) {

let property_name = "next";

if (n<0) {
property_name = "previous";
n = -n;

X

if (this.length < 3) return false;
for (let i =
- X

node = node[property_name] ;
}

return node;
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0; i <mn; i++) { // WEE n A, Bl o0 Fk, 2 3 4%
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function main(people_num, numl, num2) {

let link_list = new LinkList(people_num);

let current = link list.head;

let temp;

while (true) {
temp = link_list.get_n_after_node
if (!temp) break;
current = temp;
link_list.remove(current);
temp = link_list.get_n_after_node
if (!temp) break;
current = temp;

link_list.remove(current);

}
// MBS current =% /a— MM E &
o GE

current = current.next;

link list.head.next = current;

for (let i = 0; i < link_list.length;
console.log(current.value);

current = current.next;

function input(prompt) {
return new Promise((resolve) => {
rl.question(prompt, (answer) => {
resolve(answer) ;
B
D

async function main_() {

(current, numl);

(current, num?2);

, CH next f1 previous #SEFHEH

i++) {

people_num = parselnt(await input(" A\ AZ("));
numl = parselnt(await input(" I A\ %E — 1 F");

num2 = parselnt(await input(" # N\ %
main(people_num, numl, num?2);

rl.close();
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main_()

/7 BN ANH 10000

/) MNE—ANHF 123
/) N A F 654
// 1299
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